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Discussion and Decision
1
Introduction
In the last RAN2#105 meeting, RAN2 received the LS [1] from SA5 about the PDCP end user throughput measurements.

· SA5 would like to ask RAN2/RAN3 to evaluate the potential measurement definitions outlined in this LS in order to support the use case agreed in the attached SA5 CR S5-191484. Does RAN2/RAN3 think it’s rational and feasible that the potential measurements can be independent of deployment scenario (no-split, two-split and three-split)?

· Note that only “DL buffered UE throughput” is considered in above discussion/description, does RAN2/RAN3 have any ideas how a related “UL buffered UE throughput” could be performed?

In the last RAN2#106 meeting, RAN2 discussed the PDCP end user throughput measurements. RAN2 has the following agreements

	=>
RAN2 will try to introduce alternative measurement of end user throughput in WI phase if we have.


In the last RAN2#107bis meeting,RAN2 has the following agreements:

	4
For SA case, reuse the DL/UL throughput measurement in the RLC entity in SA5.


In this contribution, we will discuss the DL/UL throughput measurement in MR-DC.
2
Discussion
In R15 MR-DC, bearer types include MN terminated MCG bearer, MN terminated SCG bearer, MN terminated Split bearer, SN terminated SCG bearer, SN terminated MCG bearer, SN terminated split bearer. In the last meeting, RAN2 has agreed that the DL/UL throughput is measured in the RLC entity for the SA case. For the MN/SN terminated MCG/SCG bearers, there is only one RLC entity. Therefore we think the DL/UL throughput is measured in the RLC entity.

For the MN/SN terminated split bearers, there are two RLC entities. In our understanding, the purpose of this measurement is to reflect scheduled throughput. The difference between the volume of RLC SDUs and the volume of PDCP SDUs is the size of PDCP header, the size of the MAC-I and the volume of PDCP control PDUs. We think the difference is small when the PDCP end user throughput is large. For the split bearers in the MR-DC, both the MN and SN can obtain the DL/UL throughput in the RLC entity. The node hosting the PDCP entity can combine the RLC throughput measurement results of these two nodes to obtain the throughput of this split bearer. In addition, the node hosting the PDCP entity need to combine the measurement results of MN and SN. Therefore there are some impacts on the specification of RAN3. RAN2 need send one LS to RAN3

Observation 1: For non-split bearers for MR-DC, i.e. MN-terminated/SN-terminated MCG/SCG bearers, the DL/UL throughput is measured in the RLC entity and thus SA5 defined throughput measurement can be re-used.

Proposal 1: For split bearers for MR-DC, i.e. MN-terminated/SN-terminated bearers, the node hosting the PDCP entity can combine the RLC throughput measurement results from MN and SN. It is proposed RAN2 to discuss and agree on the definition in TS 38.314, and send a LS to RAN3 on potential work on Xn interface.

3
Conclusions

In this contribution, we discussed the throughput measurement in the MR-DC. We have the following observation and proposal:

Observation 1: For non-split bearers for MR-DC, i.e. MN-terminated/SN-terminated MCG/SCG bearers, the DL/UL throughput is measured in the RLC entity and thus SA5 defined throughput measurement can be re-used.

Proposal 1: For split bearers for MR-DC, i.e. MN-terminated/SN-terminated bearers, the node hosting the PDCP entity can combine the RLC throughput measurement results from MN and SN. It is proposed RAN2 to discuss and agree on the definition in TS 38.314, and send a LS to RAN3 on potential work on Xn interface.

4
References
[1]
R2-1900100/ S5-191391, LS on PDCP end user throughput measurements, SA5
2 / 2

